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Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

Ethics : Indian & Western

Answer any three questions : 20%3=60
1.  What are the four ends of human life? Explain their interrelation. 10+10
2. State and explain the ‘Noble Eight-fold path’ as stated by Buddha. 20
3. Distinguish between moral and non-moral actions. Which of these actions

constitutes the subject-matter of ethics and why? 10+10

What is Utilitarianism? Make a comparison between Bentham and Mill’s
Utilitarianism. 4+16

Critically explain Kant’s Deontological theory. 20

Explain and examine the Reformative theory of punishment. 20
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Western Logic
Answer any three questions : 20%x3=60
1. (a) When a proposition is said to have “existential import™?
(b) Do all categorical proposititons have existential import?
(c)  If we accept the Boolean interpretation of categorial propositions then only one
relation of traditional square of proposition stands. Explain. 6+6+8
2. (a)  What is syllogism?
(b)  Explain with concrete examples the different types of syllogism. 5+15
3. Use Venn diagram to test the validity :
(a) AEE-1
(b) IAI-4
(c) EIO-3
(d AOO-1 5+5+5+5
4. (a) What is truth-functional compound statement? Give example.
(b)  Define with examples the different types of truth-functional compound statement.
(c)  Distinguish between inclusive and exclusive sense of the word ‘or’. 4+12+4
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What is conversion? Discuss the rules of conversion. Why is the conversion of ‘O’

proposition not possible? 5+7+8

Explain and examine, after Copi, Mill’s method of Difference. 20
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